





0

)

B8 mud |

B s amaumy -

AL LT Ty

LLCE T

e [E T I
- P L {1
S madn
nueg g \
'i!r mymC ¥ @mmic 'Y




= [

EfRXiR

(% ) T 850 2 i
LTI TR RN RN N AR T el
(—ReH])

—

Tl

et




O L S
i @ O
£ 0 6 B
—————— ET=l=T=]

(A% (ERE) (HEHR)

GE L E M
(u AR
(wJCT ([ ER)

g -
E smmm

£ 1 70 250

Ch CHPRGEILY
BAELUETH
|
Ll
|
P H
ﬁ‘:“mm Eixa

Bi{ii:m




£ 18 i 5 B

BRI AR —
— & [E
+ O fth aH B

—— SsEEw [ o o i

%ﬂ/ (A (HRb) (HEP)




IC

IC



i B

L=3.

3km

= A#ILFEIC



LE Y

=
-
| ol
& el

= AMLJCT



1.30

1.20

1.10

1.00

0.90

2.50

2.00

1.50

1.00

1.18
—e— 1.16 1i7 o

— 113 ——
1.08 0/1:1 1.12 111
2/103 1.04 1.05 1.05
1.00 é 182 — u -
- A — o & * ¢
1.00 0.99 0.99 1.00 1.00
S55 S60 H2 H7 H12 H17
H17

55 1.0

55

H7

H12

H16




2.80

2.40

2.00

1.60

1.20

0.80

1.74 1.70 1.73

1.24
1.14
*——n 0.97
118 OUJ%

Lo N——%

0.83 0.88
H9 H11 H14 H16

57 1.0




(7)) () /) ()[1c7) ()
120,000 400 | | 120,000 400 400
90,000 | 253, 7 300 | | 90000 g;q8285 83448 .1 300 | | 83000 1300
P~ | o- {0
60000 f 164 16% {200/ | 60000 {{ ®7 234 4200 4 200
130_e— 2061|228 44000 / 45803
Q21 29821 1 -H-4F - 44000 ®
30000 2070924500 22055 100 | | 30000 i 37 100 134 100
=
14483 /
0 ml 0.0 0 L 0.0 0 1 1 1 L 0.0
HO HIl H17 H2 H6 H9 Hil H17 H2 H6 H9 HIL H17
( ) « ) ()
(7)) ()
120,000 400
90000 f 1 300
60000 - 4 200
3374134019 9 556
1 28708
30000 826063 109
: .:[[9—-7 86
0 11909 / 00
H2 H6 HY HIl Hi7
()
(7)) ()
400
88,000 |- 7 300
4 200
44000 / 143
4000 (== == === === .-
H17 37812 100
0 Il Il Il Il 0.0
H2 H6 H9 H1l H17

10

C )




=% | ZRB EQE R TORINQE R %—

A S T Ty e
Pay. = gxfl munggg b © =S

H14.11 ( )

11



Eith 905, 595 (86. 6%)

O ik 17 &

P& 81, 352

(7.8%)
allzkEs 58, 115m
(5.6%)

5ith 719,590n" (68.9%)

F)IIKEE 31, 158
— (3.0%)

R
215 687
(20.6%)

12

4@ 31, 400"
(3.0%)

- RSBt 47, 2270

(4.5%)
HP



CHOHY

+
*vf:- 5
'.-"'l -
|||H - B F T UJHR
(E¥*

13



14




R /i)

15

B Hi4 11 19(k)
B HiS 6 10(%

20 R
16 14 4
12 F 49 4 4
8| 4 4 4
4t 4 4 4
0 2 2 2

H11 H16

—

)

—

—

1




[ e {de e |
E min 07 o em

E mgmn 2 mHmEN

30
49.0
20

12.9

[ 1H1422.29( )
CIH16.11.17( )

L DAY - HI4 11 19000 I
E AR MEAR  HI6 11 170K R

16



tHA3El frAa® (—aah

Frtdnl[hee

WA
ﬁ! i |

EREE H N R ?

—_— AERNEES -~ ELER A
16 M F U (94T =) PR B

— R RS~ EHI0TE (B RICHE) M
1B T L (BT &) PSS (B RN A RS

— BEEIEEE S~ AWM
AT

17



T 2R RRMIC]  Z[RisE GULER
| )| | /
=\ 2y /.
5\ g Ii' “f
--\.1" 1 Ill-\-\-\'| ‘-1‘ = b
= i —g'l- S ad \
: S / X B R " N .
B <= | A AL — 7 U] =
e LT A ol — N
& | I f: reiili] 24}
# REIC) | e | |
o, (H) 3 / C FEER \
N =g7se) s
% O - / § mt | T \ %
* :’-. - '; /.z ‘{.r G . 2 \ e
Ic e / —Agl = T
S Ly RUCT-1 o mﬁ |
T, AT # e | |
/ N [ 1 =p xr e II
i e g'!. — -
o 1AL avELT Y = )
‘ AN T | | =
E |_ A L i. I.-'
— e - Al h !ll__ _./.,,.
3 =g hawmic] |
<3 |
\ rREdml—— "
" x - = | e ™ T
i S\ \amic \), O | H“ﬂ““x,x
> | = :
( ey . LGRS
{ = % = . | @& :EUERER
Vol VBT ol |==za N
HP




RiEARAAR m—

EIETERMAAN —

| maxpeeIEm —
EI SRR B

19



100 REBEICHD SHEAIHS T O

75 a-mm@A{ﬁm SEmEm

301 2 3 5 10 15 30 1h
i FBESRY
M.Cara:1981.

o
i
b
o

DEEIEEC
‘i
|

L
""-._E
\

"

h,
S

S
-

':
Ne

REnLmTiod—
guxnu|zﬁu [ |

11

20



2,252 292 161
928 68
1,162 31

21




227

28

56

68

53

31

22




23




24




25









425 % 1 i il

£

BHRNE

24
s

2 g
KT

£

#HICI{ER

A s g

Y m _ s

=&

mmmumm

Bem™: 8

aE =g

/ n .EMH@ B
S s wa || %

- tiillll.. =] w

I e ol i




on

20km/h

10,000

/

25t

1S0

gooCceC0O00O0N R RN

DID

1.5km/km2

(300

16ha

100 Sha

om0

JjCem 00000

500 7/

1,000 /12h

500 /

0aolo

500 /

100 7/

1,000 /12h

40

500 /12h
500

0o

LR |

C02

NO2
SPM

O0mid Ooeejei0d




0

2,055,000
1,540,300 75
Cco2
Cco2 13,337,800t
€02 16,200t
NO2
SPM

NO2 SPM

60









